


(cqsecZA-él)tghen find the value of

cos8A+2co0sA+cos*A+2

)3 d (b) O

(d) 1
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(cqseczA-“l.ltthen find the value of
cos8A+2c0s®A+costA+2

(a) 3 | (b) O @
(c) 2 (d) 1 3
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If 2sec?(2x+10°) = 8cos20 (1l+tan? 84 then
V
find the value of

sec’ (x + 20)° + cos ec” (x + 20)°
1-2sec’(2x - 5)°cosec?(2x - 5)°

Asec® (?mm)_}

2%Ho=¢o (a) = (b) =
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Solve
2cos? 0+ (4 ++/3)sin0-2(1++/3)=0
is an acute angle.
3? (b) 15°
Md) 45°
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If cosec2A-10cosecA + 25 = 0 then find
the value of 25 sinA + 2\/5 tanA

J) 6 (b) 8

(c) 2 (d) O




The value of

sin(A-B\ sin(B-C) sin(C-A) .
+ is
&Cé-dsg cosAcosB ) cosBcosC cosCcosA

cAcK (a) -1 (b) O
“CB (c) 1 (d) 2
(D volma_




If triangle ABC is right angled at C. then
what is the value of cos(A+B) + sin(A+B)?

1
(a) O )

‘/)’1 @2 A
0+ | C
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3 4

+
(1+cot*A) (1+tan?®A)
e’

value of cotA (where 0°< 6<90°) is

If = 3then the

(a) © v(]!‘r 0
(c) Not defined (d) 1
33 + YC= 3 =32
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8sin’0+2cos0=5,0°<0<90°, then
( v/:: value of tan’0+sec”0-sin’Qwill
I=C/42( = S be.
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If 1+2cot? 0 +2cos0cosec?d = — then
y

the value of Xry =P

=y

(b) cosecH
(d) tan0




The value of
cotf-1 sm’B 1+cosB)
(1-tan6) \1+ed6sO  sin®
Ag ‘(,S’ " (4-;_{ 9
sin COS
N
(c) ZsecB (d) 2cosecH
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= SF \ _ & If x = cos ec’0,

z> “ s C =-\"'.L
-2 (c) z ECP

9 1

= sec’ 0,z =
y 1-sin’ Ocos®* 0

1 1
then the vplue of — + —is
1-?¢* f o 4

(a) 2+2z \_g"-e- M;z
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If

sinf +cosO _ Sthen the value of

/\ sin0 — cos©
2

sin0 + 3 cS =?3§ Sm




Ifasin®0+bcos’0=8sinfcosfand

asinfO-bcos9=0then find the value of
aZ+h2,




\/sinx + \/COSX sinx — +/Ccos

X
= 1then
sinx — \/COSX sinx + «/COSX

the value of tanx=?
(a) 3 (bl 2

N %C&rc) > ©

=1
$-C 2




o If sechb + cosech = 2\/5 then find the
9""" L’s value of

(cos® 0 + sin® 0) cos ec’0sec” 6 + 6sin® O cos® O

(‘Q"—L}V T GX.L \(A{ 3.5 (b) %
41S (c) 2.5 (d) 1.5
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If tan® in’
0+sin“0=1, and 0<90°then

ﬂd the value of cos’
g /8
(o)1 (d) 3
\./2 o
(1)
C%Se™

Q) |




If x + y = 135" and siny + cosegy = 2
then find the value of sin®y + cosSy +

sinx
(a) 3 (b) 1
\}d) 9/8 (d) 33/32

=4S Y=90
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In asin‘x + bcos*x = ab/(at+b), find the
n
1 f tanx=? -
a1 A
A av (a) i\; _N .
b) (:)
<k b (d) (a+
C ath (c) ab
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*C [ ¢ 'I'CQ:H" Find the value of (MN) in the following

trigonometry expression
l- -2
3 $J (1+ cosx)

(sinx + cosx - 1)2 = Msin" x

u—s [‘Zﬂsc—zc-zs ’ Sm) me (V=2
2 e[ u-c-s+sq‘-)" © wxN-2

r
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2
If sinx + 2 cos%x = — then what is the

" value of sec?x=?
(-0, (__(a, -

\'\'361-‘2\(’- (c’ :

3+‘1C Lk ???_

310
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2
y If sin®x + 2 cos?x = § then what is the

N

(d) 4

value of sec?x=?
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The value of

(2tanx + cot x)* + (tanx -2 cotx)’

(;) 5
(c) 4

(tan® x + cot” x)

(b) 2

(1) Valms pwf
q=4S"
I S
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The value of

-(2 tanx + cotx)’ + (tanx - 2cotx)2_

@M‘K tan” x + cot” x) _
(A TINGOC  (b) 2 @G
(c) § Sen (d) 6 Sun Con>_
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oL sin 6+ sin0=1, find the value of
S'-'-C. (cos>0+3cos” O+ 3cos’ 0
+cos’0} 2cos” 0 +2cos” 6-2

A 1 (b) O

(c) 2

1+3 ()2
H(SE8) -2
|'|:Z7l:. |




\/-—4 +8+16cosec’d + sin® 0 = Acosec +
Bsin 0, then A & B will be
()ﬂrﬁ (b) -1,2 %:El
(c) 3,2 (d) 2,3
J-4+ JGoncy gy @
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If 3cos6=5sin6, then the value of

-2
SC r3 55in9—2sec39+2m)£uh.$}
1S S

-2 o 542

C‘i 42 2937

SXQS. ""_2_7(”56 .
Q526

5sin0+2sec’ 0-2cosb

C+ —?Ti 1 b) 316
C 979 @ 2937@

(d) None of these

S0\ =_ &g -2
(St 237 P



The value of cos® 0sin 30 + sin® 0 cos 30is

(b) L cos 40
2

(d) 2sec46




cos9x -cosdSx sin2x

The value of — + is
sinl7x-sin3x coslOx

(a) 2 AT 0

(c) 1 (d) -1




The value of

(a) cosecx
(c) cosx

sinx —-sin3x _

- > 1S
SlIl1 X —-CO0S X

(b) cos2x

) 2sinx



(sin 7x + sin Sx) + (sin 9x + sin 3x) :

(cos 7x + cos Sx + cos 9x + cos 3x)

equal to
(a) cotﬁx (b] COS€eCXx
A€
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